= O
N 2 0l & AF S E A A
20109 & =20l A LBESIH A3 S X0 ~ AL = X2t
SA ASI =T D
o J|ZMEBE (AN ZMBEY)
Sl HASHBASNZYSE (Erol: &2
o 3 _ _ FSIE =
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
At =X 2t 463,569, 153 453,370,127 10,199,026
= 338,341,307
= 18,966,983
& 106,260,863
I ZMEEXH(ASSX/IZHEEE) 312,660,965 314,469,423 21,808,458
2 286,156,947
= 26,504,018
MASHEAIAHZ LSS 312,660,965 314,469,423 A 1,808,458
2 286,156,947
= 26,504,018
S0 ZMESH SO X2 (M) 209,709,719 269,979,556 60,269,837
= 192,836,523
= 16,873,196
308 NXEHHMSOIH 209,709,719 269,979,556 N60,269,837
= 192,836,523
= 16,873,196
01 RASHBLRES 209,709,719 269,979,556 760,269,837
O3 =MEEEHZH(MAHASOH) 209,709,719
= 192,836,523
& 16,873,196
S0 ZMESHZAHXIR(FH) 49,579,953 0 49,579,953
= 45,590,761
= 3,989,192
308 XX EHHSOIA 49,579,953 0 49,579,953
= 45,590,761
= 3,989, 192
01 MHXSMBLEXS 49,579,953 0 49,579,953
O=0)ZME30H(FHSO) 49,579,953
= 45,590,761
= 3,989,192
S0 ZMESHZAHR(RS) 7,123,644 0 7,123,644
= 6,550,477
= 573,167
308 XX EHHSOIH 7,123,644 0 7,123,644
= 6,550,477
= 573,167
01 MHXSHBAEXZ 7,123,644 0 7,123,644
mEIPIEEEInEET) 7,123,644
= 6,550,477
& 573,167
I ZMESEZ AR (G AEH) 1,543,914 0 1,543,914
2 1,419,691
= 124,223
308 XX HHSOIA 1,543,914 0 1,543,914
= 1,419,691
= 124,223

|
—
|




SN
X XH .
S Tt

el

At = X ot
I =2 F (A
MASHSAMS tE 2 et E

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

01 IXSHBARES 1,543,914 0 1,543,914
D20 ZHEZ0 (HAFRS0) 1,543,914
= 1,419,691
= 124,223

ASENX ALY 2,890,460 2,399,473 490,987
=2 2,657,894
[ 232,566

308 XGRSOl & 2,890,460 2,399,473 490,987
= 2,657,894
[ 232,566

01 IXSHHBARES 2,890,460 2,399,473 490,987
222X X2 ALY 2,890,460
= 2,657,894
[ 232,566

RHAPI N E YT 1,513,666 196,344 1,317,322
= 1,391,876
[ 121,790

308 XHXIEHHISOIH 1,513,666 196,344 1,317,322
= 1,391,876
[ 121,790

01 HXSHBARZES 1,513,666 196,344 1,317,322
DX A QI HE LB E oIR8 1,513,666
= 1,391,876
[ 121,790

e A2 1,272,375 1,340,606 68,231
=2 1,170,000
[ 102,375

308 XHXISHHISOIH 1,272,375 1,340,606 68,231
=2 1,170,000
[ 102,375

01 HXSHBARES 1,272,375 1,340,606 168,231
ORERA2X 1,272,375
= 1,170,000
[ 102,375

X o KHE M E 22| X 2 2,801,832 2,768,672 33, 160
= 2,436,375
[ 365,457

308 XHXIGHHIS Ol & 2,801,832 2,768,672 33, 160
=2 2,436,375
[ 365,457

01 IXSHMBARES 2,801,832 2,768,672 33, 160
OIXI S X2 M EH 228 X2 2,801,832
= 2,436,375
[ 365,457

TE2R ALY 28,615,671 20,754,304 7,861,367




SN
X XH .
S Tt

el

NIy
I ZMEEE(A
3

MNASHSA

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2

= 27,253,020
= 1,362,651

308 NXISHHSOIH 28,615,671 20,754,304 7,861,367
= 27,253,020
= 1,362,651

01 XM EXS 28,615,671 20,754,304 7,861,367
OXEZZ2 A 28,615,671
= 27,253,020
S 1,362,651

MIESEZOH2ILAHIXE 95,000 88,705 6,295
= 76,000
< 19,000

308 MXISHHSOIH 95,000 88,705 6,295
= 76,000
& 19,000

01 XM EXS 95,000 88,705 6,295
OAMSI STz )d2gd LAl X 95,000
= 76,000
= 19,000

IFAFHE ER0IALS 1,292,937 5,322,180 A4,029,243
= 1,147,000
= 145,937

308 MXIHHSOIH 1,292,937 5,322,180 A4,029,243
= 1,147,000
& 145,937

01 MXEMISELS 1,292,937 5,322,180 A4,029,243
CIOtARE =01 AHY 1,292,937
= 1,147,000
= 145,937

WI==E 1,969,953 0 1,969,953
= 1,832,514
< 137,439

308 XHXIEHHSOIH 1,969,953 0 1,969,953
= 1,832,514
& 137,439

01 MXEMIHELS 1,969,953 0 1,969,953
Oy ss% 1,969,953
= 1,832,514
= 137,439

JNE= PN S = DN INE—g=idi| 3=4 12,000 15,000 3,000

307 S12t01& 12,000 15,000 A3,000

04 CIZHAAIE X 12,000 15,000 /3,000
OIXF B AFS & O XFAHEESHOHE 12,000

NS A&EEEHAE 450,000 200,000 250,000




A AR =X

M2 ) EMEEH(AESK /I ZLMERE)
Sl HASHBASNHYSS (el &
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ol AF o8 Hws2
403 THXIEHRIS KH2 0| 450,000 200,000 250,000
01 XIS X2 X 450,000 200,000 250,000
mpYEPENIE
500,000, 00024 %324 4 ¥30/ 100 450,000
HASSESHHHIX 216,000 216,000 0
308 XX SIS OIF 216,000 216,000 0
01 RXSHBABES 216,000 216,000 0
ONASSSHALIX
30,0002 %8000+ 732 +30/ 100 216,000
HASSENSYMA AL 225,000 450,000 225,000
403 THXIEHRIS XH2 0] 225,000 450,000 225,000
01 RXCSHTZDE 225,000 450,000 £.225,000
OHASSFASZHLAL
1,500,000 %5007+ 7:%30/100 225,000
e TRV = EI 19,500 19,500 0
308 XHXIEHH SO & 19,500 19,500 0
01 RASHBABES 19,500 19,500 0
mpIEnE N E R
200, 0002 *325% %30/ 100 19,500
D22 YN 41,400 41,400 0
308 XX EHHISOI & 41,400 41,400 0
01 RXSHBABES 41,400 41,400 0
DR 42 NSRS X2
6,000,000 *232} 2 x30/ 100 41,400
HASFLAYBHEUYIIQUYTHEN AL 800,050 500,000 300,050
308 XX EHAISOIH 800,050 500,000 300,050
01 MXSHMBLBES 800,050 500,000 300,050
OHASZERIAYLHRYNIQYSHE X 800,050
S EEINEES 1,293,406 1,402,909 £109,503
2 905,384
= 388,022
308 XX EHHISOI & 1,293,406 1,402,909 £109,503
2 905, 384
= 383,022
01 MXSHBARES 1,293,406 1,402,909 £109,503
ORYoNL2Y 1,293,406
2 905, 384
= 383,022
SoAEIs2Y 92,138 63,600 28,538
2 68,250
= 23,888




A AR =X

A I ZMBEH(ASSN/IIZYERT)
o9l HASHSASNBYSE (25l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
403 RHEISHH S X201 %2, 138 63,600 28,538
= 68,250
= 23,888
01 MXSHIZ2E 92, 138 63,600 28,538
ORgolAEIls2Y 92, 138
=2 68,250
= 23,888
S2OIZ ALY A KOO B Y| 6,000 6,300 £300
308 XHXIEHHISOIH 6,000 6,300 £300
01 MXSHHZHSEZ 6,000 6,300 A300
ORI SXAIL Y AR Ol EH]
30,0002 +400% *50/ 100 6,000
MEIZ XSS AHAHS Q2K 1,067,537 0 1,067,537
= 821,182
= 246,355
308 XHXIEHH SO & 1,067,537 0 1,067,537
= 821,182
= 246,355
01 RXESHBARES 1,067,537 0 1,067,537
OASSNESNE A2 QAN 1,067,537
= 821,182
= 246,355
IEMERHYREE 28,810 35, 160 6,350
201 Yere ot 2,810 13,160 A350
01 A2l 12,810 13, 160 A350
WEETE=Y] 7,000
OJZMBR YL UBIL B 7,000
Osg+g 3,600
OMEBEIIRSS+L0lL|
150,0002! %12 %25 3,600
Om =] 560
O PELR22=(7Y) 560
mEET 1,650
OMol 2R LS Z TS A 1,650
202 Oit| 11,000 11,000 0
01 =UHoitl 11,000 11,000 0
DI EMB2HALER0H) 1,000
203 ZRFAY| 5,000 11,000 6,000
03 AlZZTQ LAY 5,000 11,000 6,000
022028 5,000
NURENESIOVEEWEE Y EWED 80,661,033 79,730,695 930,338
= 43,433,360




SN

X ZH
o=

el

NEESn!
D HONI XS (A S X/ FHAH ST )
O Q) A4 & OHE X &

== O

_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2

= 14,508, 206
= 22,719,467

ZOHQI M & ot H X A 44,857,945 44,172,363 685,582
= 37,955,972
& 6,901,973

SSEMHUII=ZHMAZ XA 13,108,165 0 13,108,165
= 11,189,897
= 1,918,268

308 XX HHSOIA 13,108, 165 0 13,108, 165
= 11,189,897
= 1,918,268

01 MXSHBAEEXZ 13,108, 165 0 13,108,165
OSSZMHII=HMWHAS K& 13,108, 165
= 11,189,897
L= 1,918,268

ZO0=F X 18,227,897 30,673,176 N12,445,279
= 15,560,400
= 2,667,497

308 XX HHSOIA 18,227,897 30,673,176 N12,445,279
= 15,560,400
= 2,667,497

01 MXSHHIAEEXZ 18,227,897 30,673,176 A 12,445,279
OXMH=Z XA 18,227,897
= 15,560,400
& 2,667,497

il o2 K& 1,072,793 899,628 173,165
= 975,266
& 97,527

308 XNXISHHSOIE 1,072,793 899,628 173,165
= 975,266
= 97,527

01 AXNHEMBLAEXS 1,072,793 899,628 173,165
OO KI& 1,072,793
= 975,266
& 97,527

ZOots=Z K& 1,909,928 1,979,803 269,875
= 1,630,426
T 279,502

308 NXIHHSOIE 1,909,928 1,979,803 N69,875
= 1,630,426
= 279,502

01 AXNHMBLEXS 1,909,928 1,979,803 269,875
OZots=Z XA 1,909,928
= 1,630,426
= 279,502

O XA SHHI K& 79,357 91,905 A 12,548

»




SN
X XH .
S Tt

el

NEESn!
ZOHQI= XIS A (ABI = X /FAHET )
O Q) A4 & OHE X &

== O

‘:‘}\—l.I‘|i|'|.l:|-o|(:|]:”).}\-llt‘}\|-o‘|.J_lil/\ﬂg AFOH I|_-|L|;=|_l‘:_ =2}
- == i o ) T Nrs == &= 04| AFOH S o

= 72,143
& 7,214

308 AXIHMSOIN 79,357 91,905 A12,548
= 72,143
& 7,214

01 XXSHAHBAEXTZS 79,357 91,905 AN 12,548
[J& O eI Rt &l KT & 79,357
= 72,143
& 7,214

HOHIERD| AR 78,903 76,050 2,853
= 71,730
& 7,178

308 XAXIHMSOIN 78,903 76,050 2,853
= 71,730
& 7,178

01 XRXSHAHBAEEZS 78,903 76,050 2,853
OFHMHUERI PR 78,9083
= 71,730
& 7,173

HOjolS =R X @ 12,038 2,038 0
= 8,025
= 4,013

308 AXIHMSOIN 12,038 12,038 0
= 8,025
& 4,013

01 MXESMBLEES 12,038 12,038 0
OXMHASE XY X 12,038
= 8,025
& 4,013

SHEZOHI =S E AL 359, 100 384,750 A25,650
= 256,500
= 102,600

403 XHXISHS K20 359, 100 384,750 £25,650
= 256,500
& 102,600

01 RXESHMA2EX 359, 100 384,750 A25,650
OsHEZO0HQI S T ALY 359, 100
= 256,500
& 102,600

HOoHel=XILXtel XA 516,123 499,620 16,503
= 368,659
= 147,464

308 NAXHMSOIH 516,123 499,620 16,503
= 368,659
== 147,464

01 AMAXSHMBAEXS 516,123 499,620 16,503

~




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

CHOl: RHOHOIMEOLN K| (el @
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ao il b o HRs2
SENEERERERE 516,123
2 368,659
= 147,464
& 01 Q1 3 01 K X| Ml B £ 201 XI & A2 1,629,117 1,125,394 503,723
2 1,163,655
= 465,462
308 XHXIGHHISOI 1,629,117 1,125,394 503,723
= 1,163,655
= 465,462
01 MXSHHAZAHEES 1,629,117 1,125,394 503,723
CI 04 1 22 01 K X1 I 6 & 201 X1 2 A 1,629,117
2 1,163,655
= 465,462
SHS DI ASH Q2T S X 2 41,000 41,000 0
308 X+XI IS Ol & 41,000 41,000 0
01 MXSHAZHEES 41,000 41,000 0
S+ RHASHHQIAT | X 41,000
RN DECREHRSOIIC LI 7,668 7,668 0
101 Q124H| 7,668 7,668 0
04 JARZRASES 7,668 7,668 0
ORI DECRERRBIIICY 7,668
HOHQI A A& A0SR XIS 106,272 110,160 A3,888
2 90,720
= 15,552
308 XHXI IS Ol & 106,272 110,160 A3,888
2 90,720
= 15,552
01 MXSHBASES 106,272 110,160 £3,888
ORI AHIAIZ Y A0/ SR X2 106,272
2 90,720
& 15,552
ZOHQIALEI 2 S X2 (B2 H) 7,626,275 8,019,956 393,681
= 6,510,235
= 1,116,040
308 XX GRS 0 7,626,275 8,019,956 393,681
2 6,510,235
= 1,116,040
01 RXSHBASES 7,626,275 8,019,956 393,681
X HOIASI B S X2 (BHRH) 7,626,275
2 6,510,235
= 1,116,040
ZOHQIAISI B S X2 (D SHI) 83,309 67,300 16,009
= 58,316
= 24,993

@




SN
X XH .
S Tt

el

NEESn!
ZOHQI= XIS A (ABI = X /FAHET )
O Q) A4 & OHE X &

== O

HI

32,000

l:l}\_l X ZH C|-O|(;|j:”) }\-“C‘}\|.O-I A2 Al OH HdE T 2F
- co=m s IR ° . (= (=3 =5 0:”/‘l|_% (=]
307 212t01& 83,309 67,300 16,009
= 58,316
= 24,993
05 2IZtRAEZ 83,309 67,300 16,009
OO Ars &S X & (1 SHl) 83,309
= 58,316
= 24,993
SOl = XK=& &Y 5,896,825 4,752,794 1,144,031
= 3,115,238
= 32,000
& 2,749,587
HOHCIMAZSHINAIE 2L 138,413 105,000 33,413
= 55,365
= 83,048
307 gIz2told 138,413 105,000 33,413
= 55,365
& 83,048
02 GI2+AAMEX 138,413 105,000 33,413
COXOHQIMAZEHIAI L2 Z 138,413
= 55,365
& 83,048
ESHANSME(IL)2GXA 105,000 105,000 0
= 60,000
= 45,000
308 AXIHMSOIN 105,000 105,000 0
= 60,000
L= 45,000
01 AXNSMBANEES 105,000 105,000 0
OZSSZOHXSME(IL)2I XA 105,000
= 60,000
& 45,000
SHHI B SN 2ESAISHI XA 100,000 100,000 0
307 212t01& 100,000 100,000 0
02 ItAASE X 100,000 100,000 0
OSXHISSS XN 2HSSHAISHI XA 100,000
ZOHeI=X2ELSXR 30,000 30,000 0
307 212t01& 30,000 30,000 0
02 QItBAEX 30,000 30,000 0
OJEOeI=R2ads XA 30,000
ZOHQIBOIA A EX 2 (01 Y) 80,000 80,000 0
= 32,000
& 48,000
307 212t01& 80,000 80,000 0




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

2l HOoHe!I S XX 2 (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
[ 48,000
02 RIAAMNEX 80,000 80,000 0
OO EHAANLE SR H2H (01 ) 80,000
= 32,000
= 48,000
TEM =Rz 270,000 270,000 0
308 XX HHSOIA 270,000 270,000 0
01 UHXSHBAEES 270,000 270,000 0
O e =X2=2223F 270,000
A2 XIRIZ O Q1B O] Al & A2 K| & 500,000 258,750 241,250
308 XXM SOIA 500,000 258,750 241,250
01 UHXSHHBAEES 500,000 258,750 241,250
CJA 2 XXM ZOH I o Al & & E RIT R 500,000
A2 1S AL DT GH KA EHALES 190,000 190,000 0
308 XIXISHHSOIN 190,000 190,000 0
01 HXSHMBLEXS 190,000 190,000 0
(Al 2 1S AF DI 6 XHAFEF AL 190,000
ZOHOI N 2B ALY 20,000 20,000 0
308 XXISHHISOIA 20,000 20,000 0
01 AXSHBAEERZ 20,000 20,000 0
XN HE3HAY 20,000
RNEFHAXAAEHSG(01) 203,000 203,000 0
308 XX HHSOIA 203,000 203,000 0
01 UHXSHBAEES 203,000 203,000 0
OXHEOHI X MEH2F(01F) 203,000
UM LS XA ME 2 (01) 26,400 26,400 0
308 XIXISHHISOIA 26,400 26,400 0
01 UHXSHHBAEES 26,400 26,400 0
OO EESXMMEHS S (01) 26,400
AZEROHISHS X HIE 2 54,000 54,000 0
308 XXISHHISOIN 54,000 54,000 0
01 HXSMBLEXS 54,000 54,000 0
DA St sXFEHZS 54,000
Ol & ZOHQIDFAFE ROl IHA AR (01 ) 45,000 45,000 0
308 XXIEHHISOIN 45,000 45,000 0
01 AXNSHBLHEERZ 45,000 45,000 0
OO H ZOHCI DAL= 01 TH2A AFRE (0] ) 45,000
ZONQI OIS X S AMME 2 (0] 2F) 180,000 180,000 0

_10_




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

CHl: FOHOI=XIXI 2 ST (S5l &2
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 Ao il ot o =2
308 XHXIEHH SOIH 180,000 180,000 0
01 MXSHBABES 180,000 180,000 0
IR OROITH JH= XI Ml Ef 2 2 (01 ) 180,000
DOl SHESAS XA (012) 35,000 35,000 0
308 XHXISHH SO & 35,000 35,000 0
01 MASHHZHSES 35,000 35,000 0
OZHAISESSALXIR (01) 35,000
MNBIZXSLTRA+5 DS 6,000 6,000 0
307 Q1201 6,000 6,000 0
02 PIABAEE 6,000 6,000 0
OAS=NEYBLALE DS 6,000
ZONQI KIS ASI HEA S SAR LS 15,000 15,000 0
307 QI2H0IH 15,000 15,000 0
02 BIANBAEE 15,000 15,000 0
R OHOIRI S ALSI THEAI S BEAR DS 15,000
SOIS2A4SRASSDS 20,000 20,000 0
307 Q201 20,000 20,000 0
02 QIHHARE 20,000 20,000 0
Os0llSEAERAALDS 20,000
SOSENHRARSH @ 85,200 90,000 A4,800
308 XHXIEHH SOIH 85,200 90,000 A4,800
01 MASHHZHSES 85,200 90,000 4,800
Os0lISE4L USRS 85,200
Ol H ZOHQI DS X2 A 50,000 50,000 0
= 40,000
= 10,000
307 Q1201 50,000 50,000 0
= 40,000
= 10,000
VEIEPNEES 50,000 50,000 0
OO AR RS X2 AL 50,000
= 40,000
= 10,000
BOHOLSTHERIE 3,265,724 2,531,640 734,084
= 2,787,813
= 477,911
308 KHXISHHI SO & 3,265,724 2,531,640 734,084
= 2,787,813
= 477,911
01 RASHBABES 3,265,724 2,531,640 734,084

_11_




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

el ZOoHI=XIXI2 & (etel: =3
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
OZOHotsSHEX = 3,265,724
= 2,787,813
< 477,91
ZOHOIIEL=EX & 147,400 131,004 16,396
= 103, 180
= 44,220
308 AXIEHHMSOIA 147,400 131,004 16,396
= 103, 180
= 44,220
01 XM EEXS 147,400 131,004 16,396
COZOHOIES XA 147,400
= 103,180
= 44,220
H-ZOHIHEMEHZSH 36,000 0 36,000
308 AXIEHSOIA 36,000 0 36,000
01 XM EXS 36,000 0 36,000
OFZHHAHEHH2SE 36,000
SSANNEOH OIS E LXK 36,000 0 36,000
403 XXM SA=201H 36,000 0 36,000
01 MUXIEHMA=ZE = 36,000 0 36,000
OSSAHEHA OISR 36,000
ZOHQIIISHEH XA 75,000 0 75,000
308 NXISHHMSOIE 75,000 0 75,000
01 MXEHIAELS 75,000 0 75,000
OIS HHX 75,000
ZOHEXX 2 &UHF=& 49,000 27,000 22,000
201 LEH2 | 31,000 9,000 22,000
01 At 2t2lHl 31,000 9,000 22,000
D=3l 10,000
OZMA=SX K& S 2= 10,000
O=2g=¢ 21,000
OAMIISXAEE AL L0 21,000
202 O4dl 13,000 13,000 0
01 S 13,000 13,000 0
O =XSE =80t 13,000
203 AR =& 5,000 5,000 0
03 A=A HS=LH| 5,000 5,000 0
OIS XA R =2 5,000
=323 E=2Y 45,000 0 45,000
307 QI12t0ld 45,000 0 45,000

_12_




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

el ZOoHI=XIXI2 & (etel: =3
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
02 Qlta3aEx 45,000 0 45,000
UE=+2=23=2g 45,000
AL X 80,688 0 80,688
= 68,880
< 11,808
308 MXIHHSOIH 80,688 0 80,688
= 68,880
= 11,808
01 MXEMISELS 80,688 0 80,688
googzex 80,688
= 68,880
= 11,808
EUSOIAZEE 2 2SAY 9,000 0 9,000
308 AXIHHSOIH 9,000 0 9,000
01 MXEHMIMELS 9,000 0 9,000
2 U0 B EH 2 LA 9,000
O A ALK 1,561,000 1,366,000 195,000
CHMHA=XNHME A2 2S XA 40,000 40,000 0
307 2120l A 40,000 40,000 0
02 QI2tFaEx 40,000 40,000 0
OSHHU=sNEHMEd2EH X 40,000
ZOHRI XIS XA =3l (11IHEHAI) 39,000 39,000 0
307 2120l & 39,000 39,000 0
02 2ItAAE X 39,000 39,000 0
OO X EXRH =3 (11HEH) 39,000
ST SAIES A 30,000 30,000 0
307 2120l & 30,000 30,000 0
02 QI3 aEx 30,000 30,000 0
DS S SMESXE 30,000
ZOHIAAX S 100,000 60,000 40,000
307 G12t0ld 100,000 60,000 40,000
02 QlFAE X 100,000 60,000 40,000
O A XX & 100,000
SXNMEOHR & E A XA 60,000 40,000 20,000
307 2120l A 60,000 40,000 20,000
02 It aEx 60,000 40,000 20,000
OSXMEONA &S A X 60,000
JI=THE MBI AALS XA 35,000 35,000 0
307 2120l & 35,000 35,000 0

_13_
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AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

CHl: ZOHOICHHI B AKI R (e
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
VI PR S 7,000 7,000 0
I 0H QI X I TH & Al & S ARG 23] 7,000
& =X X 0H 21 = XI CH 31 H 2| X & 200,000 0 200,000
307 2120/ H 200,000 0 200,000
04 QIAEALRE 200,000 0 200,000
(1% = X % & 0 01 = X/ CH 81 H & X & 200,000
ANSTHHOILR 2| LS 28l 20,000 0 20,000
307 212+0IH 20,000 0 20,000
VRN EES 20,000 0 20,000
ORASEHHQA LRI LS 23 20,000
& O Q1 = XI Al & X & 28,345,263 29,439,538 ~1,004,275
= 2,362, 150
= 14,476,206
= 11,506,907
DO HATH AL SEY 715,610 427,500 288,110
=2 511,150
= 204,460
403 XX SIS K20/ 715,610 427,500 288,110
= 511,150
= 204,460
01 RIXISAX =2 X 715,610 427,500 288,110
OB X ATHE A &I SEY 715,610
= 511,150
= 204,460
CROUSH=T RS (012) 1,100,000 1,300,000 200,000
= 295,000
= 805,000
307 2I2+0IH 1,100,000 1,300,000 200,000
= 295,000
= 805,000
02 QIAAMBE 1,100,000 1,300,000 200,000
OSHHBE =X 22 (01Y) 1,100,000
= 295,000
= 805,000
ASHNC AT 60,000 60,000 0
308 XHXI IS Ol & 60,000 60,000 0
01 MHXSHHZHSES 60,000 60,000 0
JYSENCNRRY 60,000
NZE OB E=T 22 (01Y) 350,000 300,000 50,000
308 XHXIEHIS 0l & 350,000 300,000 50,000
01 MXSHBASES 350,000 300,000 50,000
OAZEMHOISS =X 22 (01Y) 350,000
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AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

&2l HOHASXAIE X (ctel: &
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0] & 08 e HIREY
ZOHQIMEA 2T (01Y) 18,816,123 18,122,964 693, 159
= 13,777,641
= 5,038,482
308 MXIHHMSOIA 18,816,123 18,122,964 693, 159
= 13,777,641
= 5,038,482
01 MHXSHILEEZ 18,816,123 18,122,964 693, 159
CIEOHOIMEAI 2 (0] 2) 18,816, 123
= 13,777,641
o= 5,038,482
ZOHERAIEEAA =S 662,832 832,080 A 169,248
308 XX SHHSO0IA 662,832 832,080 A 169,248
01 AXNHMBLEEXS 662,832 832,080 A 169,248
OXHMHA=SXAIESAKNE 662,832
ZOHQIMEAN LSBT SXR 15,900 22,500 26,600
308 XX HHSOIA 15,900 22,500 26,600
01 IXNSMBLNEES 15,900 22,500 26,600
CEOHQ MEAN LB EIESAR 15,900
UL MEANLEFSS2S 7,800 26,500 18,700
308 MHXHHMSOIA 7,800 26,500 A 18,700
01 MHXSHMBLEXS 7,800 26,500 A 18,700
O MEANLESSZ2SH 7,800
ZOHQI MEAI LA KO & FH| 27,900 45,000 A17,100
308 MHXIHMSOIA 27,900 45,000 A17,100
01 MHXSHIAEEZ 27,900 45,000 217,100
CIZOHQI MEAE U AT A4 FEHIXIR 27,900
ZOHQI R ATHEAE2H(01) 1,169,000 783,454 385,546
= 280,000
= 889,000
308 MXIHHMSOIA 1,169,000 783,454 385,546
= 280,000
= 889,000
01 MXSHIAEEXZ 1,169,000 783,454 385,546
O MNATHE A2 (01 2) 1,169,000
= 280,000
L= 889,000
ZOHQIF2UHESAE2H(01Y) 407,000 368,000 39,000
308 XX HHSO0IA 407,000 368,000 39,000
01 AXNHMBLNEEXS 407,000 368,000 39,000
O =24 ESAE 2 (01 2) 407,000
ZOHIHIESAIE2Y(01Y) 227,000 162,000 65,000
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A ARISX 0
HH: ZHA=2XNST (M EXN/HLAHASIIE)
&2l HOHASXAIE X (ctel: &
_ _ _ Muo
SNBSS - MEAY - BES 01l &k o e HlnE2
308 XXl & A S0l 227,000 162,000 65,000
01 AXNHMBLEXS 227,000 162,000 65,000
OO ESAIES2H(01L) 227,000
A SSMENE2H(01Y) 96,600 90,000 6,600
308 XX HHSOIA 96,600 90,000 6,600
01 XML EXS 96,600 90,000 6,600
O sSMEINIE2F(01Y) 96,600
QI ZTHEAE2Y(01L) 83,400 83,400 0
308 AXIHMSOIA 83,400 83,400 0
01 HXSHMBLEXS 83,400 83,400 0
OIS THEAE 2 (01Y) 83,400
+SEAHH2E(01Y) 313,000 270,000 43,000
308 AXIHMSOIA 313,000 270,000 43,000
01 MXSHIAEEXZ 313,000 270,000 43,000
OxstSA9dE29(012) 313,000
SSTZMHAXNSH X ALH2SH 375,000 500,000 2 125,000
308 XXl EH S0l 375,000 500,000 A 125,000
01 XN MBLEXS 375,000 500,000 A 125,000
DESSHMHATGEXNZEHZ S 375,000
ZOAREHHS I XA (01L) 515,970 500,640 15,330
308 XXl &S0l & 515,970 500,640 15,330
01 XML EXS 515,970 500,640 15,330
O REAEHSG X (01) 515,970
ZOHQIMEA LD SEZ ALY 49,200 63,000 A 13,800
403 TtXIEMSK=01H 49,200 63,000 A 13,800
01 MXESHMA=2E = 49,200 63,000 213,800
CZ NI MEA LI SEZ ALY 49,200
ZOHQIMATHE A LI S B2 A 84,900 57,000 27,900
403 KX M SK=201H 84,900 57,000 27,900
01 MXIESHMA=2E R 84,900 57,000 27,900
OXHARATHEAIL I SEZ AL 84,900
=SS s22(01Y) 123,565 0 123,565
= 123,565
403 KX EMSK=01H 123,565 0 123,565
= 123,565
01 AUXEMA=E =X 123,565 0 123,565
OFMeI=sX2Is2E2ArE (012F) 123,565
= 123,565
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SN

I‘I iH:

At = X ot
HOUSXNSH(MISX/HAHSK )

el ZHA=SXAIE XA (etel: =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
ZOHQI XIS ALSI THE Al & XH2E X2 (012) 77,063 75,000 2,063
403 A XISHHSK=201H 77,063 75,000 2,063
01 AXEHMA2E X 77,063 75,000 2,063
CIZHOH QI KT AL TH 2 Al A XH2EXT & (012) 77,063
SAZEHA=EX 22 400,000 300,000 100,000
308 XXISHHSOIE 400,000 0 400,000
01 XM EXS 400,000 0 400,000
OSAZEA=22S 400,000
HOHCIMEANEIISES 2,549,400 5,050,500 A2,501,100
= 1,821,000
< 728,400
403 XX HSA=201H 2,549,400 5,050,500 22,501,100
= 1,821,000
& 728,400
01 AXESHMIA2E = 2,549,400 5,050,500 22,501,100
OZOHQIMEA LI SES 2,549,400
= 1,821,000
e 728,400
SSTMHA NS ALHAE 60,000 0 60,000
403 A XHHSK=01H 60,000 0 60,000
01 MXISHMAZE = 60,000 0 60,000
OSSHMHANHANZEAHAE 60,000
ZOHAASHEALIISEL 58,000 0 58,000
= 30,000
= 28,000
403 AXIHHSK=01H 58,000 0 58,000
= 30,000
< 28,000
01 MXISMA=2E= 58,000 0 58,000
OIS HEAL I sE2 58,000
= 30,000
& 28,000
NAMSEXNMEIAZSH (M SEX/FHAHEXH) 22,150,536 13,984,462 8,166,074
= 8,751,000
= 4,458,777
= 8,940,759
KA =SXAE =X 19,189,536 11,665, 162 7,524,374
= 8,751,000
2 4,458,777
& 5,979,759
KNAA A AE AL 9,581,700 4,464,973 5,116,727
= 8,490,000
< 1,091,700
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A AR =X

M XNSASSXAMEIAZSHALZSKI/FHLHSKH)
&2 NGASSRAIS =X (ctel: &
_ _ _ Muo
SNBSS - MEAY - BES 01l &k o e HlnE2
308 XX HHSOIA 9,581,700 4,464,973 5,116,727
= 8,490,000
& 1,091,700
01 IXNHMBLNEEXS 9,581,700 4,464,973 5,116,727
XS ALS MHI A S XA 9,581,700
= 8,490,000
= 1,091,700
MIERNESS223EZ=XNG2S A 50,000 50,000 0
307 QI2t0IA 50,000 50,000 0
02 2ItBAE X 50,000 50,000 0
OAsI=X2s233Z=X32G X2 50,000
KA = XE S MO L 25,000 25,000 0
307 gI2told 25,000 25,000 0
04 QIHHALE X 25,000 25,000 0
IR A S = X2 & AIOI L 25,000
SIS A HEH A A AL XA 10,000 10,000 0
307 S12t01& 10,000 10,000 0
02 2ItAASE X 10,000 10,000 0
O=J=XNEEAIASAS X 10,000
FARYANEIISEL 352,350 255,858 96,492
= 261,000
& 91,350
403 X SHMSAH=01H 352,350 255,858 96,492
= 261,000
& 91,350
01 MXIESHMA=2E R 352,350 255,858 96,492
OBARSALIIsES 352,350
= 261,000
L= 91,350
MIIZSXNANESAMAEZNE 80,000 60,000 20,000
307 212t01 & 80,000 60,000 20,000
02 QItBAEX 80,000 60,000 20,000
OAIRISXAIESANE2US 80,000
ZHASEZAEXNE AR 2E X 130,000 130,000 0
307 212t01& 130,000 130,000 0
02 2ItBAE X 130,000 130,000 0
OZ&=SE A=A 2E NS 130,000
A2 S RI2I &l A 20,000 20,000 0
307 gI2told 20,000 20,000 0
04 QIRHHALE X 20,000 20,000 0
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©OARRI =X
CAEAMEIEXIAEIA
DA AR S XA =&

_ _ _ Muo
SA-E . S(E) - MEAY - BES Abod e SImE=ET
OAtS S X2l & A 20,000
ZEX S ALS 2 X ALA & 3 30,000 20,000 10,000
307 QI2t0IA 30,000 20,000 10,000
02 2ItBAE X 30,000 20,000 10,000
OZ3SXSALE S X AA ZHS 30,000
MIISXNEEHAH2HG(01Y) 65,302 65,302 0
= 32,651
& 32,651
307 QI2t0IA 65,302 65,302 0
= 32,651
& 32,651
02 QI3 aEx 65,302 65,302 0
OAI SXNEBHEHSE(01Y) 65,302
&2 32,651
= 32,651
HAESZUQQANEMSUHS 10,000 10,000 0
307 S12t0I& 10,000 10,000 0
04 QIHHALE X 10,000 10,000 0
OUPRESHAUQLYAIEMSUHE 10,000
M3 S X2t S AFRHAIDI L 8,000 5,000 3,000
307 GI12+0I & 8,000 5,000 3,000
04 QIRHHAIE X 8,000 5,000 3,000
CIAFSI = XI 2t S AL Ol LE 8,000
MISXANELAXNMEEZ A2 147,000 130,000 17,000
301 Ypt8asg 147,000 130,000 17,000
01 M2 X =0l= 147,000 130,000 17,000
OARI SXAIE AT EE S A
7,000&+10,500H #23 147,000
BUQLUYAL LA AUS XA 25,955 42,250 N 16,295
308 XXX SOl 25,955 42,250 N 16,295
01 MHXSHIAEEXZ 25,955 42,250 A 16,295
OB SAIDY AT E A
65,000&«1,3312*30/100 25,955
MBISXAES AR =S 216,000 360,000 A 144,000
308 NXHHSOIH 216,000 360,000 A 144,000
01 MXEHMIMNELS 216,000 360,000 A 144,000
OALSI S XA EEA =S 216,000
O&Fdd+¥ 80,0002 *500 122 30/ 100 144,000
OxA=¢ 40,000% *500% »12& *30/100 72,000
MIISXNAELAAALZ R 15,975 13,500 2,475
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SN
LTI ARSI = T A b

el

X ZH
o=

At = X ot
A2EH (AR SX/FHAAHNEXH)
NS At S XA =&

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- co=m s IR ° . (= (=3 =5 0:”/|l|,% Lsa
308 XX HHSOIA 15,975 13,500 2,475
01 MAXEHMABLEXS 15,975 13,500 2,475
OAMSISXAE L AT AL Z XA
15,000 *3,550%4 *30/100 15,975
MNIBISRAEL LKA HX 15,975 13,500 2,475
308 MXIHMSOIA 15,975 13,500 2,475
01 AXNSMBAEEXZ 15,975 13,500 2,475
AR S XA E L AR AH X2
15,000& *3,5504 *30/100 15,975
M EX2ESALS 22,500 22,500 0
308 MHXIHMSOIA 22,500 22,500 0
01 AXNSMBAEEXZ 22,500 22,500 0
LA S X2 E A
5,000,000& =151 2 *30/100 22,500
FUQLAAIL2H(01Y) 5,855,779 5,855,779 0
= 4,426,126
= 1,429,653
308 AXIHMSOIA 5,855,779 5,855,779 0
= 4,426,126
& 1,429,653
01 IXNSMBIMNEES 5,855,779 5,855,779 0
OFANQLUAIE2H(01) 5,855,779
= 4,426,126
& 1,429,653
A2 S XA ECE0H & 3 10,000 20,000 A 10,000
307 gI2told 10,000 20,000 A 10,000
02 ItAASE X 10,000 20,000 A 10,000
CJALS| = XI Al & CEOH 23 10,000
Fopt==XdEdsAH2 I 10,000 10,000 0
307 212t0I & 10,000 10,000 0
02 QI2ZtBAE X 10,000 10,000 0
OFOD==XddsAmHEE 10,000
HSMHE E 2,305,000 0 2,305,000
201 LBt 5,000 0 5,000
01 AFR 22l 5,000 0 5,000
O er==Z | 5,000
OHSNMHLEHFIUHMNEESHLYUS 5,000
306 %= 2,300,000 0 2,300,000
01 8493 2,300,000 0 2,300,000
Og=smHeas 2,300,000
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©OARRI =X
D NGAR SR MEIAZSHALSI SR /FHAHERE)
DA AR S XA =&

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
SN HH . GA(BH) - NEAY - B2 Sh Ofl & o e
d==N=s00IsE2Y 14,000 0 14,000
201 2Et23| 14,000 0 14,000
01 AtE2teltl 8,000 0 8,000
O x=s 8,000
OZ=E=XEs0) | sE XL Xt 8,000
02 =323l 6,000 0 6,000
IPNE=Fal= ] 6,000
Oodssxsosgxnzssi 6,000
RSN R RsR= e 20,000 0 20,000
308 AXIHMSOIN 20,000 0 20,000
01 XXSHHBIAEEZ 20,000 0 20,000
At =X EsdLNESS 20,000
MISXNFEIFISSREAAIL 2,000 1,500 500
303 ZAZ 2,000 1,500 500
01 Za3 2,000 1,500 500
COAS =X FARBSRRAL 2,000
NSGA =X HE+-SHEA 100,000 0 100,000
207 A0 100,000 0 100,000
01 H3x2=29d| 100,000 0 100,000
ORI AFS 2 X H & 48 8 o 100,000
NSGAZ S AIE F=A 67,000 80,000 A 13,000
201 LEr243d| 17,000 26,000 A9,000
01 AtR22ldl 17,000 26,000 29,000
g et=ZH| 11,000
OXIS A SRIALSE =& L Bt ZH| 11,000
294 6,000
OXGAE =X /A2 A=Z LAY 6,000
202 Ol 25,000 25,000 0
01 =ZLHOA I 25,000 25,000 0
OXSGAS =X SR FR0 b 25,000
203 YR F&d| 25,000 29,000 24,000
03 AIHFXGRF=EY| 25,000 29,000 24,000
OXNGAS =L HASEHRR T 25,000
SEEAAMEFE 2,961,000 2,319,300 641,700
SSCXASE XA 90,000 46,300 43,700
307 QI2t01A 90,000 46,300 43,700
02 QB AE X 90,000 46,300 43,700
O==X A X & 90,000
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A AR =X
HH: XAAMSZXNMEIALSHASEX/HLAHASIIE)
Sl SRLSALEA (s &)
_ _ PG ==
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
Ca0lzE=Re22E 80,000 80,000 0
307 2120l & 80,000 80,000 0
02 BlAAHEX 80,000 80,000 0
O=d0IzZ3=Xe22E 80,000
SBEHHESAIHHI X 280,000 178,000 102,000
307 elztold 280,000 178,000 102,000
02 2I2FEX 280,000 178,000 102,000
UE2SHHSaAIE A& 280,000
HELANLSIEEWSE A=A 10,000 10,000 0
308 KXIHHMSOIH 10,000 10,000 0
01 HXHHBLdE2ES 10,000 10,000 0
Oes2dMNYSIE=NSEIIAS A 10,000
AMUSHEHESEMZZEAM 30,000 30,000 0
308 KNXISHHMSOIE 30,000 30,000 0
01 HXHHMBLdE2ES 30,000 30,000 0
OEAMNSSHHASEAZZ2HA 30,000
SERSNEFRA=ZHINE 33,000 55,000 A22,000
308 KHXISHHMSOIH 33,000 55,000 A22,000
01 MXEHHBdELS 33,000 55,000 222,000
U=sERESMEFFAZHIAE 33,000
E=RSE PN RV B = ONE=) 1,500,000 0 1,500,000
308 AXIEHSOIA 1,500,000 0 1,500,000
01 MXEHHMBSdELS 1,500,000 0 1,500,000
IE=FSEa =P NS PN, 1,500,000
EEHNIISEZAEY 23,000 30,000 A7,000
402 22t H=01S 23,000 0 23,000
01 2IEX=E X 23,000 0 23,000
O2sHAIIsE22 ALY 23,000
SEHMAAXA 65,000 0 65,000
307 2120l A 65,000 0 65,000
02 It A Ex 65,000 0 65,000
D2 S H AR 65,000
SENELSIESANEESE 650,000 0 650,000
403 XXM SA=01H 650,000 0 650,000
01 MUXIEMA=ZE = 650,000 0 650,000
OSEANEE2AHE 200,000
OEds=3AxdAd 300,000

_26_




M A
g X

[e2]
—/
B9l 53

‘:‘}\_I }\-“C‘ I.O'I HAXZ A} OH @Lj_l‘:_ HleDF
150,000
6.25 200,000 0 200,000
307 200,000 0 200,000
02 200,000 0 200,000
JIE A 200,000
HE2H (A3 = XI3H) (J1EHDIEH 127,281 229,192 A101,911
a2 69,411 185,192 A 115,781
ol 69,411 185,192 A 115,781
101 144l 16,011 15,792 219
03 o2z AE S 16,011 15,792 219
CRA(ESY) 16,011
(OPIE=-3=1 38,8503 1 253 9,830
O&N3 9,830, 0002 *1/12%400% 3,277
O=F=¢ 38,8503 x1H x52 2,021
(@)uPNE=4 38,8503 x1H x 15 583
OZFE St 150,000 *1H 23| 300
203 HERF=&d| 25,200 141,200 A 116,000
01 J|22IHRF&HI 6,600 122,600 A 116,000
O0=% 6,600
04 ENBILSZ=EHI 18,600 18,600 0
]I &= 18,600
O30 0l ot 350,000& 3 2 M +12& 12,600
O15Z 0l ot 250,000& *2H 2 M+ 12& 6,000
204 XA 28,200 28,200 0
01 Mg AH| 28,200 28,200 0
O=% 600,000 x1E «12& 7,200
InIPS; 350,000& x5H «12& 21,000
Jl23| 57,870 44,000 13,870
Jl22Z | 57,870 44,000 13,870
201 Yot Y| 28,370 28,700 £330
01 AFR 22| 25,370 25,700 A 330
O et==Z | 18,170
OJI=2MNEESFY 15,170
O 2R=LEMFYS 3,000
=&l 7,200
OMI =X SRR SAH| 7,200
02 =323l 3,000 3,000 0
LA & &I 3,000
OARIIIIK X E=H| 3,000
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A AR S X1
Y LAY (MSI =X (IIEHIIE})
&t JI=3l (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
202 O4Hl 13,000 13,000 0
01 =LA bl 13,000 13,000 0
DA S XIS F=80 H 13,000
405 KHaHFESH| 16,500 2,300 14,200
01 TN =SS HSHI 16,500 2,300 14,200
Ozet=ZelH 1,500
O&E XS AL 5,000
JSEHNEZ 10,000
MRS (A =X (M SX/HUHS ) 47,969, 338 44,956,355 3,012,983
LHEHHXI = 47,969, 338 44,956,355 3,012,983
ARSI S2EEEYHCHRES 47,969,338 44,956,355 3,012,983
701 JIEtRI A& &= 47,969,338 44,956,355 3,012,983
01 JIEtSIHHES 47,969,338 44,956,355 3,012,983
ASSHII=2ESEIACHRES 47,969,338
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